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QUESTION 1

Which of the following are examples of employee time data? (Choose all thatapply) 

A. Leave 

B. Illness 

C. Substitutions 

D. Business trips 

Correct Answer: ABCD 

 

QUESTION 2

In the case of a transport order, the process can be monitored using the POhistory. (True/False) 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 3

In material planning, sales orders consume independent requirements. Theconsumption mode and consumption periods
can be set in which of the following? (Choose all that apply) 

A. Vendor master 

B. Material master 

C. Product group 

D. MRP group 

Correct Answer: BD 

 

QUESTION 4

Your organization uses SAP ERP Manufacturing Execution. You are reviewing a production order and notice that no
labor time has been recorded in the production order. Which Manufacturing Execution business process step has not
been completed? 

A. Goods issue 

B. Confirmation 
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C. Goods receipt 

D. Order settlement 

E. Variance calculation 

Correct Answer: B 

 

 

QUESTION 5

The Kanban production type does not run with MRP. (True/False) 

A. True 

B. False 

Correct Answer: A 
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